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Dilations on the Coordinate Plane

1. Thepoint A = (7,4) is dilated from the origin by a scale factor r = 3. What are the coordinates of A'?

2. Thetriangle ABC, shown on the coordinate plane below, is dilated from the origin by scale factor r = > What is the
location of triangle A’B'C'? Draw and label it on the coordinate plane.
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1. Triangle ABC is shown on the coordinate plane below. The triangle is dilated from the origin by scale factor r = 4.
Identify the coordinates of the dilated triangle A’B'C’.
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2. Triangle ABC is shown on the coordinate plane below. The triangle is dilated from the origin by scale factor r = Z.

Identify the coordinates of the dilated triangle A'B'C’.
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3. The triangle ABC has coordinates A = (6,1), B = (12,4), and C = (—6,2). The triangle is dilated from the origin

by a scale factor r = 1. Identify the coordinates of the dilated triangle A'B'C’.
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4. Figure DEFG is shown on the coordinate plane below. The figure is dilated from the origin by scale factor r = 3

>
Identify the coordinates of the dilated figure D'E'F’G’, and then draw and label figure D'E’'F'G' on the coordinate
plane.
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5. Figure DEFG has coordinates D = (1,1), E = (7,3), F = (5,—4),and G = (—1,—4). The figure is dilated from the
origin by scale factor r = 7. Identify the coordinates of the dilated figure D'E'F'G’.
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The point A = (7, 4) is dilated from the origin by a scale factor = 3. What are the coordinates of A'?

Since point A = (7,4),thenA' = (3 X 7,3 X 4) =(21,12).

The triangle ABC, shown on the coordinate plane below, is dilated from the origin by scale factor r = % What is the
location of triangle A'B'C’'? Draw and label it on the coordinate plane.
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Point A = (3,4),s0 A' = (% x 3,% x 4) = (%2)

Point B = (~7,2),s0 B' = (% x (=7),3 2)=(-3.1).

Point C = (2,2),50 C' = (% x 2,% x 2)=(@,1.

The coordinates of the vertices of triangle A'B'C' are (%, 2), (—%, 1), and (1, 1), respectively.
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Students practice finding the coordinates of dilated points of two-dimensional figures.

1. Triangle ABC is shown on the coordinate plane below. The triangle is dilated from the origin by scale factor r = 4.
Identify the coordinates of the dilated triangle A'B'C’.
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Point A = (—10,6),50 A’ = (4 x (—10),4 X 6) = (—40,24).
Point B = (—11,2),s0 B' = (4 x (—11),4 x 2) = (—44,8).
Point C = (—4,4),50 C' = (4 x (—4),4 x 4) = (—16,16).

The coordinates of the vertices of triangle A'B'C' are (—40, 24), (—44, 8), and (—16, 16), respectively.
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2. Triangle ABC is shown on the coordinate plane below. The triangle is dilated from the origin by scale factor r = %.
Identify the coordinates of the dilated triangle A'B'C’.
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Point A = (—14,-8),50 4’ = (3 x (-14),3 x (-8)) = (-3,-10).

. f_ (5 5 —(_15_3
Point B = (-12,-1),50 B' = (3 x (-12),3 x (-1)) = (-15,-3).

i (5w ca) 2w (—1) ) = (-5 -2
Point C = (—4,—1), 50 C' = <4 x (4,3 x ( 1)) =(-5-3)

. . . P 35 5 5 .
The coordinates of the vertices of triangle A'B'C’ are (— > —10), (—15, — Z)’ and (—5, — Z)’ respectively.
3. The triangle ABC has coordinates A = (6,1), B = (12,4), and C = (—6,2). The triangle is dilated from the origin

by a scale factorr = % Identify the coordinates of the dilated triangle A'B'C’.
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Point A = (6,1),504' = (7 x 6,3 x 1) =(3,3).
Point B = (12,4), so B' = (1 x 12,1 x 4)=(6,2).

2 2
Point C = (—6,2), 50 C' = (1 x (—6),% x 2) = (-3,1).
2 2
The coordinates of the vertices of triangle A'B'C’ are (3, %), (6,2), and (—3, 1), respectively.
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Figure DEF G is shown on the coordinate plane below. The figure is dilated from the origin by scale factor r = 3

4. .
2
Identify the coordinates of the dilated figure D'E'F'G’, and then draw and label figure D'E'F’G' on the coordinate
plane.
Yy
p
7
2
D > o
D . F
/
//
0 — j/ X
-7 6 -5 -4 -3 -2 1 0 1 4 6 7 8 10 11
e
E/
P
i D — = (3 % (=33 —(_23
Point D = (—3,1),50 D' = (5 x (-3),5 x 1) =(-3.5).
P (33w 1)) = (3 3
Point E = (-1,-1),50E' = (5 x (-1),3 x (-D) = (-3,-3)-
- (63 x1)(03
Point F = (6,1),s0 F' = (3 x 6,5 x 1)=(9,3).
L ,_ (3 3 _(n 15
Point G = (0,5),s0 G' = (E X O'E X 5) = (0, 2 )
. . y [P 9 3 3 3 3 15 .
The coordinates of the vertices of figure D'E'F'G' are (— 2 E)’ (— 7~ E)’ (9, E)’ and (0, 7), respectively.
5.  Figure DEFG has coordinates D = (1,1), E = (7,3), F = (5,—4), and G = (—1, —4). The figure is dilated from the
origin by scale factor r = 7. Identify the coordinates of the dilated figure D'E'F'G'.
PointD = (1,1),so D' = (7x 1,7 x1) = (7,7).
PointE = (7,3),s0E' = (7 x7,7 X 3) = (49,21).
Point F = (5,—4),s0 F' = (7% 5,7 x (—4)) = (35,-28).
Point G = (—=1,-4),50 G’ = (7 x (—-1),7 X (-4)) = (-7,-28).
The coordinates of the vertices of figure D'E'F'G' are (7,7), (49, 21),(35,—28), and (—7, —28), respectively.
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